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INT+QUAD (Black) SM (Red)
Beam Remnants = Any muon with momentum > sqrt(S)/30 (left)

Non-beam Remnants = Any electron or muon with eta<2 and momentum < sqrt(S)/30 (right)
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10 TeV

INT+QUAD (Black) SM (Red)
Beam Remnants = Any muon with momentum > sqrt(S)/30 (left)
Non-beam Remnants = Any electron or muon with eta<2 and momentum < sqrt(S)/30 (right)
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30 TeV

INT+QUAD (Black) SM (Red)
Beam Remnants = Any muon with momentum > sqrt(S)/30 (left)
Non-beam Remnants = Any electron or muon with eta<2 and momentum < sqrt(S)/30 (right)
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